EXERLCISE 1

Read carefully and choose the best answer between A and B.

L

6.

A bird (fly} because it has a couple of wings.

a. Can

b. able to

A monkey (climb) a tree to eat fruit.

a. Can

b. ableto

Anita (sing) a song. She is a singer.

a. Can

b. able to

My father (drive) a car,

a. Can

b. ableto

Bill gates is a computer programmer, He is (program) applications.
a. Can

b. able to

Iam (drive) a car

a. Can

b. able to

Reni is a professional dancer. She is (dance)

a. Can .
b. able to '\\ (
Mzr. Mustofa is an English teacher. He (speak) English fluently.
a. Can ; ¥
b. ableto » .
Sinra (do) math homework. It’s casy for her.

a. Can

e - .
b. able to k.

10. Robert has a guitar and he (play) it well,

a. Can

b. able to I}




